
Multiply by 0.01 (G)Find each product.
5.1202 × 0.01 = 4.25 × 0.01 =
5.4 × 0.01 = 4.47 × 0.01 =
8.4 × 0.01 = 6.8 × 0.01 =
4.4848 × 0.01 = 4.83 × 0.01 =
2.93 × 0.01 = 1.336 × 0.01 =
2.5049 × 0.01 = 1.92 × 0.01 =
8.565 × 0.01 = 5.8814 × 0.01 =
8.6 × 0.01 = 1.66 × 0.01 =
8.07 × 0.01 = 5.634 × 0.01 =
9.3447 × 0.01 = 3.781 × 0.01 =
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Multiply by 0.01 (G) AnswersFind each product.
5.1202 × 0.01 = 0.051202 4.25 × 0.01 = 0.0425
5.4 × 0.01 = 0.054 4.47 × 0.01 = 0.0447
8.4 × 0.01 = 0.084 6.8 × 0.01 = 0.068
4.4848 × 0.01 = 0.044848 4.83 × 0.01 = 0.0483
2.93 × 0.01 = 0.0293 1.336 × 0.01 = 0.01336
2.5049 × 0.01 = 0.025049 1.92 × 0.01 = 0.0192
8.565 × 0.01 = 0.08565 5.8814 × 0.01 = 0.058814
8.6 × 0.01 = 0.086 1.66 × 0.01 = 0.0166
8.07 × 0.01 = 0.0807 5.634 × 0.01 = 0.05634
9.3447 × 0.01 = 0.093447 3.781 × 0.01 = 0.03781
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